<?xml version="1.0" encoding="UTF-8"?>
<l--version A5, 7%, EchoToken:Zi, #%FMiE X HIFNI =4 >
<SeatAvailabilityRQ Version="17.2"
EchoToken="254146983780723666287721047005372212923483704689"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
SeatAvailabilityRQ.xsd"
xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">
<l- HEE A1 >
<Document>
<l-- EHErENWARR: w2, o Eir, 1 K >
<Name>0</Name>
</Document>
<l WERPAAFE, B >
<Party>
<l- KIENEER , B>
<Sender>
<l-- FMLIECURIE ID , WA >
<CorporateSender>
<l AL -->
<Name></Name>
<l AT -->
<ID></ID>
<l- "k -->
<CorporateCode></CorporateCode>
</CorporateSender>
</Sender>
</Party>
<Query>
<l- FLEITH S, I >
<Order Owner="CZ" OrderID="C1812250000215"></Order>
<I--PNR 4470, AirlinelD [& 5% CZ >
<BookingReference>
<ID>NZ9HTV</ID>
<AirlinelD>CZ</AirlinelD>
</BookingReference>
</Query>
<\- A, W -->
<Datalists>
<l- BHRITA, Bal >
<ContactList>
<ContactInformation>
<ContactProvided>
<Phone>



<l- BERHIE, LA >
<PhoneNumber>15858585588</PhoneNumber>
</Phone>
</ContactProvided>
</Contactinformation>
</ContactList>
</Datalists>
</SeatAvailabilityRQ>

<?xml version="1.0" encoding="UTF-8"?>
<l--version it A5, @7, EchoToken fZFafiiE SCHIFLNI = A -->
<SeatAvailabilityRS Version="17.2"
EchoToken="254146983780723666287721047005372212923483704689"
TimeStamp="2018-12-26T15:00:48"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
SeatAvailabilityRS.xsd"
xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">
<l- HEE AT >
<Document>
<I-ITHS, A0 >
<Name>C1812250000215</Name>
</Document>
<l WMINFRIR, AT >
<Success />
<l JERIAER , W20 Owner [#5E 29-->
<AlLaCarteOffer OfferID="0OFSeat001" Owner="29">
<l-- IFIAJRRA], AT -->
<TimeLimits>
<OfferExpiration DateTime="2018-12-26T09:24:05"/>
</TimeLimits>
<l-- JEALRZRERG R, B -->
<AlaCarteOfferltem OfferltemID="0OfferltmSeat01">
<l-- REMUB KR, WA -->
<Eligibility>
<l-- %, WA -->
<PassengerRefs>psgl</PassengerRefs>
<l-- Wi, WA -->
<SegmentRefs>segl</SegmentRefs>
</Eligibility>
<I-- MEEE, B >



<UnitPriceDetail>
<l Jift, g >
<TotalAmount>
<l-- &F, Wi, Code:Mifh, WA -->
<SimpleCurrencyPrice
Code="CNY">600.0</SimpleCurrencyPrice>
</TotalAmount>
</UnitPriceDetail>
<l-- FLIEH -
<Service ServicelD="SIDSeat0001">
<ServiceDefinitionRef>SIDSeat0001</ServiceDefinitionRef>

</Service>
</ALaCarteOfferltem>
</ALaCarteOffer>
<\--JEATEE S, 2 >
<SeatMap>

<l-- Wi, WA -->
<SegmentRef>segl</SegmentRef>
<I-- MRAMEE, B4l >
<Cabin>
<l-- el RM, WA -->
<CabinType>
<l-- MROARED, DAA -->
<Code>Y</Code>
</CabinType>
<l MRALIXIR, 20 -->
<CabinLayout>
<I-- LA, ai-->
<Columns>A</Columns>
<Columns>B</Columns>
<Rows>
<l-- ®IHIT , WA-->
<First>14</First>
<l- S5RAT , A-->
<Last>15</Last>
</Rows>
</CabinLayout>
<l AT, WI-->

<Row>
<- 75, >
<Number>14</Number>
<I-- L -->
<Seat>

<l-- ﬁ”% ’ 'JZ‘ZDL\L'>



<Column>A</Column>
<l- BEALIRAS , >
<SeatStatus>U</SeatStatus>
<\ JEALJEME , A-->
<SeatCharacteristics>
<l BN , %2>
<Code>E</Code>
</SeatCharacteristics>
<l- REREBAMEE , B>
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>
</Seat>
<Seat>
<I- F5 >
<Column>B</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<l-- A JEME -->
<SeatCharacteristics>
<l JRYERN >
<Code>E</Code>
</SeatCharacteristics>
<l KREKEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>

</Seat>
</Row>
<Row>
<= ATH >
<Number>15</Number>
<I-- PEfL -->
<Seat>
<l- H5 >

<Column>A</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<\-- BRI JEME -->
<SeatCharacteristics>
<l JRPERN >
<Code>E</Code>
</SeatCharacteristics>
<l KRELEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>
</Seat>
<Seat>
<I- Fl5 >



<Column>B</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<l JEGJRME >
<SeatCharacteristics>
<l JRYEARNS >
<Code>E</Code>
</SeatCharacteristics>
<l KREKEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>

</Seat>
</Row>
</Cabin>
</SeatMap>
<-BEALEE R, ©at >
<SeatMap>

<l-- Wi, WA -->
<SegmentRef>seg2</SegmentRef>
<I-- MRAMEE, B4l >
<Cabin>
<l-- el RM, WA -->
<CabinType>
<l-- MROARED, DAA -->
<Code>Y</Code>
</CabinType>
<l MRALIXIR, 20 -->
<CabinLayout>
<l- FJL >
<Columns>A</Columns>
<Columns>B</Columns>
<Rows>
<I- JEBIT >
<First>14</First>
<l-- 5T >
<Last>15</Last>
</Rows>
</CabinLayout>
<l- 4T >
<Row>
<= ATH >
<Number>14</Number>
<I-- L -->
<Seat>
<I- Fl5 >



<Column>A</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<l JEGJRME >
<SeatCharacteristics>
<l JRYEARNS >
<Code>E</Code>
</SeatCharacteristics>
<l KREKEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>
</Seat>
<Seat>
<I- F5 >
<Column>B</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<l-- A JEME -->
<SeatCharacteristics>
<l JRYERN >
<Code>E</Code>
</SeatCharacteristics>
<l KREKEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>

</Seat>
</Row>
<Row>
<= ATH >
<Number>15</Number>
<I-- PEfL -->
<Seat>
<l- H5 >

<Column>A</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<\-- BRI JEME -->
<SeatCharacteristics>
<l JRPERN >
<Code>E</Code>
</SeatCharacteristics>
<l KRELEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>
</Seat>
<Seat>
<I- Fl5 >



<Column>B</Column>
<l FEALRES -->
<SeatStatus>U</SeatStatus>
<l JEGJRME >
<SeatCharacteristics>
<l JEMERLS >
<Code>E</Code>
</SeatCharacteristics>
<l KREKEAAEE >
<OfferltemRefs>OfferltmSeat01</OfferltemRefs>
</Seat>
</Row>
</Cabin>
</SeatMap>
<l- HHgA , Bai-->
<Datalists>
< REEEIIE , B>
<PassengerlList>
<l- REFER , BA-->
<Passenger PassengerID="psgl">
<l- RERM , B>

<PTC>ADT</PTC>

<- W, B>

<Individual>
<l-- 4 >
<GivenName>Jane</GivenName>
<l- W >

<Surname>Smith</Surname>
</Individual>
</Passenger>
</PassengerList>
<l-- BIER , B>
<FlightSegmentList>
<l-- WiRfER , ©ai->
<FlightSegment SegmentKey="segl">
<I-- BYEE , B>
<Departure>
<l-- &k, B>
<AirportCode>CAN</AirportCode>
<l- ERHE , B>
<Date>2018-06-01</Date>
</Departure>
<l- RIXERE , B>
<Arrival>



<l-- BIENSg , A-->
<AirportCode>PEK</AirportCode>
<l-- REHE , 4>
<Date>2018-06-01</Date>
</Arrival>
<l-- HEMMEE , B>
<MarketingCarrier>
<l-- HEKEBN ->
<AirlinelD>CZ</AirlinelD>
<l-- fi¥ts >
<FlightNumber>324</FlightNumber>
</MarketingCarrier>
</FlightSegment>
<FlightSegment SegmentKey="seg2">
<Departure>
<AirportCode>PEK</AirportCode>
<Date>2018-06-01</Date>
</Departure>
<Arrival>
<AirportCode>CAN</AirportCode>
<Date>2018-06-01</Date>
</Arrival>
<MarketingCarrier>
<AirlinelD>CZ</AirlinelD>
<FlightNumber>324</FlightNumber>
</MarketingCarrier>
</FlightSegment>
</FlightSegmentList>
<l- HIAEH ->
<ServiceDefinitionList>
<ServiceDefinition ServiceDefinitionID="Seat01"
Owner="29">
<Name>Seat Assighment 01</Name>
<Descriptions>
<Description>
<Text>Seat Assignment Service</Text>
</Description>
</Descriptions>
</ServiceDefinition>
</ServiceDefinitionList>
</Datalists>
</SeatAvailabilityRS>



<?xml version="1.0" encoding="UTF-8"?>
<OrderCreateRQ Version="String"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2 ../OrderCreateRQ.xsd"
xmlins="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">

<l- XHER -

<Document/>
<l- FHRBAAEE >
<Party>
<l- RIENER -
<Sender>
<l- 51T >
<CorporateSender>
<l-- %R -->
<Name>XYZ Corporation</Name>
<I--ID -->
<ID>system</ID>
<l- K5 >
<CorporateCode>XYZ</CorporateCode>
</CorporateSender>
</Sender>
</Party>
<l- HERER -
<Query>
<l-- ITHREFER -
<Order>
<l--offer (5 & -->
<Offer Owner="CZ" ResponselD="321s65df4a5465sa46df"

OfferID="OFSeat001">
<l-- EHEEE >
<Offerltem OfferltemID="0OfferltmSeat01">
<l KRERE -->
<PassengerRefs>psgl</PassengerRefs>
<l BAEE >
<SeatSelection>

<l 4T >
<Row>14</Row>
<l %l -->

<Column>A</Column>
</SeatSelection>
</Offerltem>
<Offerltem OfferltemID="0fferltmSeat02">
<PassengerRefs>psgl</PassengerRefs>
<AlaCarteSelection>



<Quantity>1</Quantity>
<SegmentID>seg2</SegmentID>
</AlLaCarteSelection>
<SeatSelection>
<Row>14</Row>
<Column>B</Column>
</SeatSelection>
</Offerltem>
<Offerltem OfferltemID="0fferltmSeat01">
<PassengerRefs>psg2</PassengerRefs>
<AlaCarteSelection>
<Quantity>1</Quantity>
<SegmentID>segl</SegmentID>
</ALaCarteSelection>
<SeatSelection>
<Row>15</Row>
<Column>C</Column>
</SeatSelection>
</Offerltem>
<Offerltem OfferltemID="0fferltmSeat02">
<PassengerRefs>psg2</PassengerRefs>
<AlaCarteSelection>
<Quantity>1</Quantity>
<SegmentID>seg2</SegmentID>
</ALaCarteSelection>
<SeatSelection>
<Row>15</Row>
<Column>D</Column>
</SeatSelection>

</Offerltem>
</Offer>
</Order>
<l HHEH >

<Datalists>
<l- REEEES >
<PassengerlList>
<I- REEE >
<Passenger PassengerID="psgl">
<l- RERE >
<PTC>ADT</PTC>
< GEY >
<Age>30</Age>
<l- HpELR >
<ldentityDocument>



<l-- EfHS >

<ldentityDocumentNumber>440582198812455245</ldentityDocumentNumber

>
<l-- JEfFRA >
<IdentityDocumentType>1</ldentityDocumentType>
<l-- HAEH >
<Birthdate>1988-06-01</Birthdate>
<l- % >
<GivenName>a</GivenName>
<l-- HiE% >
<MiddleName>b</MiddleName>
<l-- i >
<Surname>c</Surname>
</ldentityDocument>
</Passenger>
<Passenger PassengerID="psg2">
<PTC>ADT</PTC>
<Age>30</Age>
<ldentityDocument>
<IldentityDocumentNumber>440582198812455245</ldentityDocumentNumber
>
<IdentityDocumentType>1</ldentityDocumentType>
<Birthdate>1988-06-01</Birthdate>
<GivenName>c</GivenName>
<MiddleName>d</MiddleName>
<Surname>f</Surname>
</ldentityDocument>
</Passenger>
</PassengerList>
</Datalists>
</Query>
</OrderCreateRQ>

<?xml version="1.0" encoding="UTF-8"?>
<OrderViewRS Version="String"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2 ../OrderViewRS.xs
"
xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">
<l- XHEE -
<Document />



<l HRBPLMEE >
<Party>
<l- RIENEER -
<Sender>
<l 51T >
<CorporateSender>
<l HFR >
<Name>XYZ Corporation</Name>
<I--ID -->
<ID>system</ID>
<l- K5 >
<CorporateCode>XYZ</CorporateCode>
</CorporateSender>
</Sender>
</Party>
<l MIPrE >
<Success/>
<l-- RFEMEE >
<Response>
<l--GO 58 >
<Order Owner="CZ" OrderID="G01806120000001">
<l- ITHRARFEE -
<Orderltems>
<l- ITHRERE >
<Orderltem OrderltemID="50180612000001">
<l ATHURE >
<ltemStatus>E</ItemStatus>
<l-- HrigfE 8 >
<PriceDetail>
<l B >
<TotalAmount Code="CNY">
<SimpleCurrencyPrice>120.00</SimpleCurrencyPrice>
</TotalAmount>
<l S >
<BaseAmount Code="CNY">100.00</BaseAmount>
<l-- REER -
<Discount>
<DiscountAmount
Code="CNY">20.00</DiscountAmount>
</Discount>
</PriceDetail>
</Orderltem>
<Orderltem OrderltemID="50180612000002">
<ltemStatus>E</ItemStatus>



<PriceDetail>
<TotalAmount Code="CNY">
<SimpleCurrencyPrice>120.00</SimpleCurrencyPrice>
</TotalAmount>
<BaseAmount Code="CNY">100.00</BaseAmount>
<Discount>
<DiscountAmount
Code="CNY">20.00</DiscountAmount>
</Discount>
</PriceDetail>
</Orderltem>
</Orderltems>
</Order>
</Response>
</OrderViewRS>

<?xml version="1.0" encoding="UTF-8"?>
<l--version fAS, 7. EchoToken:WhZi, FZEENLE XHIFRNFZA >
<OrderCancelRQ Version="17.2"
EchoToken="254146983780723666287721047005372212923483704689"

xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
OrderCancelRQ.xsd"

xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">

<- XMEE W, 56 >

<Document/>
<l WERPNAFE, B >
<Party>
<l- RIENER, B -->
<Sender>
<l-- G177, AT -->
<CorporateSender>
<l-- AWK, I -->
<Name></Name>
<l-1D, 4>
<ID></ID>
<l- AT,k —>
<CorporateCode></CorporateCode>
</CorporateSender>
</Sender>
</Party>

<l b, STRHRET >

<ExpectedRefundAmount>



<Total>1000</Total>
</ExpectedRefundAmount>
<l-- WM, EJE GO B -->
<Query>
<Order Owner="CZ" OrderID="G01805010000012" />
</Query>
</OrderCancelRQ>

<?xml version="1.0" encoding="UTF-8"?>
<l--version it A5, @7, EchoToken fZFafiiE SCHIFLNI = A -->
<OrderCancelRS Version="17.2"
EchoToken="254146983780723666287721047005372212923483704689"
TimeStamp="2018-12-26T15:00:48"

xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
OrderCancelRS.xsd"

xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">

<l- XMEE WA, 56 >

<Document/>

<l BMINFRIR, A >
<Success/>

<l- WARNAFE, B2 >
<Response>

<l-- BUBHIITH S, D2 >
<OrderReference>G01812250000012</OrderReference>
</Response>
</OrderCancelRS>

<?xml version="1.0" encoding="UTF-8"?>

<AirDoclssueRQ Version="17.2" xmlns="http://www.iata.org/IATA/EDIST/2017.2"
PrimaryLangID="EN"
EchoToken="-578949598181878006621748562495072371692474262756"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2 AirDoclssueRQ.xsd">

<l- XHER -
<Document />
<l HRPLAMEE >
<Party>
<l- KIENER >
<Sender>
<l H1EF >



<CorporateSender>
<Name></Name>
<ID></ID>
</CorporateSender>
</Sender>
</Party>
<l- >
<Query>
<l- AT, B 1-->
<TicketDocQuantity>1</TicketDocQuantity>
<TicketDoclInfo>
<l A2, f81A) PassengerList HH ik % PassengerlD -->
<PassengerReference>passenger</PassengerReference>
<Payments>
<Payment>
<Type>CA</Type>
<Method>
<Other>
<l- W, GEIANT GIE->
<Remarks>
<Remark>YEEPAY</Remark>
</Remarks>
</Other>
</Method>
<l WA, SIS -->
<Amount>3000</Amount>
<l WA, ATHS >
<Order Owner="CZ" OrderID="5S01808070000165">
<l-- I, HAEo1l-->
<OrderltemID>01</OrderltemID>
</Order>
</Payment>
</Payments>
</TicketDocInfo>
<Datalists>
<PassengerlList>
<Passenger PassengerID="passenger">
<PTC>ADT</PTC>
<Individual>
<l ZF >
<GivenName>#4</GivenName>
<l-- WK >
<Surname>jk-</Surname>
</Individual>



<LoyaltyProgramAccount>
<AccountNumber>480007017385</AccountNumber>
</LoyaltyProgramAccount>
<ContactInfoRef>contact_info</ContactinfoRef>
</Passenger>
</PassengerList>
<ContactList>
<l-- W, BRI >
<ContactIinformation ContactID="contact_info">
<ContactProvided>
<Phone>
<PhoneNumber>13612345678</PhoneNumber>
</Phone>
</ContactProvided>
</Contactinformation>
</ContactList>
</Datalists>
</Query>
</AirDoclssueRQ>

<?xml version="1.0" encoding="UTF-8"?>
<OrderViewRS Version="" xmlns="http://www.iata.org/IATA/EDIST/2017.2"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
OrderViewRS.xsd">
<Document/>
<Success/>
<Response>
<Order OrderlD="501808200000126" Owner="CZ">
<Orderltems>
<Orderltem OrderltemID="01">
<l ITHURE >
<ltemStatus>E</ItemStatus>
<PriceDetail>
<l & >
<BaseAmount>1960.00</BaseAmount>
</PriceDetail>
<Service ServicelD="service">
<PassengerRef>passenger</PassengerRef>

<l AR >

<ServiceDefinitionRef>YEE020160921892664</ServiceDefinitionRef>
</Service>



</Orderltem>
</Orderltems>
</Order>
<Datalists>
<PassengerList>
<Passenger PassengerID="passenger">
<PTC>ADT</PTC>
<Individual>
<l ZF >
<GivenName>#</GivenName>
<l WK >
<Surname>jk-</Surname>
</Individual>
</Passenger>
</PassengerList>
<ServiceDefinitionList>
<l ZAFRAKAER ID >
<ServiceDefinition ServiceDefinitionID="YEE020160921892664">
<l SRR >
<Name>YEEPAY</Name>
<Descriptions>
<Description>

<l SCAPRH >

<Text>X2lucHVOX2NoYXJzZXQ91c2VyJnBhcnRuzZXI</Text>
</Description>
</Descriptions>
</ServiceDefinition>
</ServiceDefinitionList>
</Datalists>

</Response>
</OrderViewRS>

<?xml version="1.0" encoding="UTF-8"?>
<l-- Version A EE%E 17.2, EchoToken W70, ZEfE X HIFRN =4 (The
version information is
written to 17.2, EchoToken must be generated according to the rules defined
by China Southern Airlines) -->
<OrderRetrieveRQ Version="17.2"
xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
EchoToken="710696544195218791570932214654160794061432985412"
xmlIns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2
OrderRetrieveRQ.xsd">



<l W20, {HERSRKMEH (Required,but not yet use) -->
<Document />
<l FERBAGE >

<Party>
<l- RIENER -
<Sender>
<l-- MM ECRIE ID , A >
<CorporateSender>
<l I >
<Name></Name>
<l AT -->
<ID>CTR001</ID>
<l- "k >
<CorporateCode></CorporateCode>
</CorporateSender>
</Sender>
</Party>
<Query>
<Filters>

<l- 1, PEHITHS (Required,the OrderlD wanted) -->
<OrderID Owner="CZ">G0180101000001</OrderID>
<l W, ATERHUEE —NMREES >
<Passengers>
<Individual>
<GivenName>san</GivenName>
<Surname>zhang</Surname>
</Individual>
</Passengers>
</Filters>
</Query>
</OrderRetrieveRQ>

<?xml version="1.0" encoding="UTF-8"?>
<OrderViewRS Version="String"

xsi:schemalocation="http://www.iata.org/IATA/EDIST/2017.2 ../OrderViewRS.xs
"

xmlIns="http://www.iata.org/IATA/EDIST/2017.2"
xmlins:xsi="http://www.w3.0rg/2001/XMLSchema-instance">

<l- XHEE -

<Document />

<l HRBPLMEE >

<Party>

<l- KIENER >



<Sender>
<l 51T >
<CorporateSender>
<l HFR >
<Name>XYZ Corporation</Name>
<I--ID -->
<ID>system</ID>
<l- K5 >
<CorporateCode>XYZ</CorporateCode>
</CorporateSender>
</Sender>
</Party>
<l MIIPrE >
<Success/>
<l-- RFEMEE >
<Response>
<l--GO 58 >
<Order Owner="CZ" OrderID="G01806120000001">
<l- ITHRARFEE -
<Orderltems>
<l- ITHRER >
<Orderltem OrderltemID="50180612000001">
<l ATHURE >
<ltemStatus>E</ItemStatus>
<l-- HrigfE 8 >
<PriceDetail>
<l B >
<TotalAmount Code="CNY">
<SimpleCurrencyPrice>120.00</SimpleCurrencyPrice>
</TotalAmount>
<l S >
<BaseAmount Code="CNY">100.00</BaseAmount>
<l- REER -
<Discount>
<DiscountAmount
Code="CNY">20.00</DiscountAmount>
</Discount>
</PriceDetail>
</Orderltem>
<Orderltem OrderltemID="50180612000002">
<ltemStatus>E</ItemStatus>
<PriceDetail>
<TotalAmount Code="CNY">
<SimpleCurrencyPrice>120.00</SimpleCurrencyPrice>



</TotalAmount>
<BaseAmount Code="CNY">100.00</BaseAmount>
<Discount>
<DiscountAmount
Code="CNY">20.00</DiscountAmount>
</Discount>
</PriceDetail>
</Orderltem>
</Orderltems>
</Order>
</Response>
</OrderViewRS>



